Winning With Wimpy

Let’s continue with our discussion from last time about using Redoubles.  Previously, I touched on a number of sequences where Redouble was strength showing over an opponent’s takeout double of partner’s opening bid.  That is its most common use.  Keeping in mind that you can only use the Redouble bid when one of your opponents has made some type of double, you want this call to show something fairly specific. Under no circumstances should you employ a Redouble for business, unless you are reasonably convinced that you will be able to penalize the opponents in the suit they are likely to bid for more than you would have scored in your doubled contract.
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800 or more, he should pass.
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If South thinks his partner can make a club contract, he should pass or raise.  East’s double was not for penalty and there is virtually no chance for the partnership to play in 2Cxx.   East has made a negative double, showing values, spades, and perhaps diamonds.  If South holds some values and clubs, he should raise and force the opponents to search for their fit on the 3-level, rather than cheaply on the 2-level.  I can’t stress this strongly enough: When you fit partner, it’s always better to raise that to redouble!
This naturally begs the question: What should a Redouble show here?  While there is no universal consensus of which I am aware, I can offer two constructive suggestions.  With no agreement, I believe the Redouble should show values which partner would not otherwise expect.  West has shown an opening hand, and East has suggested enough values to compete on the 2-level.  North rates to hold about 10 points or more.  If South holds, say 10-13 points, he would like to share this information with partner.  The Redouble here would simply announce that someone at the table is perhaps a bit light, and that North-South might easily hold the balance of power.
The other possibility, and the one I recommend would be to treat the Redouble as a conventional call promising the Ace or King in partner’s overcalled suit.  This convention is known as the Rosenkranz Double/Redouble and is often misused.  If you hold the Ace or King of partner’s suit and 3 or more pieces, it is almost certainly better to raise than to Redouble and take up no bidding space.  Some players use the Rosenkranz xx to differentiate between a raise with a high honor and a raise without one, but I’ve made myself clear that I believe the effect of jamming the auction more than compensates for this.  Therefore, I propose that the best use of the Rosenkranz xx is to promise a doubleton in  partner’s suit with a high honor.  If you think that this won’t come up very often to be useful, you’d be more right than wrong, but given that the Redouble takes up no bidding room, you want it to show something very helpful. 
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South is not suggesting the partnership play in 4Cxx.
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South has started a cue-bid sequence, looking for a 
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possible heart slam. North has cue-bid a club control
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and East has announced club values. South has promised 









a first round (Ace or void) club control.
Whenever you start cue-bidding, the opponents may double to suggest the either the best lead for partner, or perhaps a profitable sacrifice later.  A Redouble should promise a first round control in that suit.  A pass can be just as informative, promising no first round control, and leaving maximum space for partner to cue-bid another control at a space-saving level
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In this auction, South has made a Jacoby 2NT game 
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forcing raise of North’s opening 1H bid.  North 
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conventionally showed a diamond singleton or void with 

3D. East has not made a lead directing double, since he will be on lead against an eventual heart contract. Instead, East has suggested that he holds several diamonds, and is suggesting a either a sacrifice of 5D or 7D to partner if he is interested. South has promised a first round control of diamonds, and simultaneously is requesting that North cue-bid his next cheapest control. 
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South has denied first round control of diamonds, but is 
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still sending the message he is interested in slam. After 
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all, the partnership is forced to at least 4H. With little or 

no slam interest, South would simply bid it.  South is likely hoping that North can cue-bid the Spade Ace, and if so will make a move.  If South were looking for the Club Ace, he would have to be holding the Spade Ace in his own hand, and would thus cue-bid 3S instead of passing. West might gum up the works by bidding 4D first, but if North has the Spade Ace, he should still probably bid it, knowing that partner is almost certainly looking for it. 
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While you could use this sequence to show a huge 
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hand, it’s better used as a conventional Support
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Redouble, promising 3 card support for hearts. 
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Same as last time. North shows 3 card spade support 
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Most play this double to conventionally show 4 hearts 
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rather than as a support double for diamonds. Make sure
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you and your partner agree which you play.

Consider the following similar auctions:
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Here is a double most partnerships haven’t discussed. 
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Same as last time, but this time North bids 1S. 
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What is the difference between the two sequences?
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Few partnerships have agreements concerning the subtle differences between the two sequences above.  I can’t picture any useful meaning for the double that doesn’t involve holding 4 spades.  You’ll wait about 20 years between opportunities to use it as a penalty double.  No, I think it makes the most sense to differentiate these two sequences based on North’s diamond holding.  One of the two sequences should promise 4 spades and at least 3 diamonds, and the other should promise 4 spades and deny as many as 3 diamonds.  You can discuss which you prefer with your favorite partner, but it logically makes the most sense to me for the sequence with the double to deny diamond support for the very rare case when South elects to defend 1Hx.  Perhaps more importantly, if North has clubs and spades, it stands to reason that he will not have 3+ diamonds more often than not.  Thus, on more of the hands when a spade fit is found, it will be declared by South, putting West on lead, and protecting a possible heart honor from a lead through by East. 
